RIGIAE HRZE15—6 P1
FR27E6A11H
hRBERER - KERERS

RIEFEHROBHLE
TR2IE A NTBFFIIBASHR - BB ENRERAEFTVEL-OT, FERERMLELE
BiR
EROBEL. KE20~22°C, 15428~33, ATFEAREE6~8mg/ITLT=,
BRE(F4~5mT,. BEREOAL =7 SXEM  ISTFILELNERSNEL-.

KiBLERS (F1-2)
7K:E20.0~22.4°C, 15§5275~32.6 TLT=,
AIEIAER (H27.5.28)ELEBL T, KRIIREHN 52mET0.2°CIETL . 10mBELIEE T04°CLE
RLEL- ERIERENSIMEBT02~14ETFLEL -,

BEBEE(XS3)
AEREREEIXAFERES56~81mg/ITLT=,
BTEAERELLEL T, REMNS10mEBET0.7~2.8mg/ i LELT=,

TS50k (R4+5)
BEAE(X3.9~5.0mTLT=,
REDHER. AEEOAL =7 - SXEM D &S Thl6cells/ml, ¥>F D LEC. ZILA+C. 2
AR)MExE Tlocells/miERENFELT=, Vv Vb RIBIIEZRSINFLEATLE, EEEO OO
TURSLREP. TUA—RL+P. M) IAT4F L) ERE T3,900cells/miEEZR SN FELT -,

BOEBRAOKEIZEEOTREZRCFFIE, RS FRYMRMUITEKERTIGRELT, PR
BEBEAAVKERRISE TERL TSN,

REFELVBESNIMIAEE
ALZT-EXER:

HE~HTFcells/mI (BFEZDAVIE)
vk RITE:

10~100cells/mI (A EED ~LVIE)
TSFILRE:

100cells/mI (EEEBL D EAL)




P2

TR27F6A11H
F1 kiR (°C) -
i X X T e AIEIZA 2 (H27.5.28)
AEMR | ZRIA | BEOE HSY | T T RIS TN oo e | BTEIEDE | TIIBET
Al RSN oy "
o
Om 224 22.2 22.3 22.2 22.3 225 A02 22.0
2m 224 22.1 216 22.1 22.0 223 AO02 219
5m 218 216 21.3 21.7 21.6 215 0.0 216
10m 214 213 21.2 214 21.3 20.9 04 -
B-1m 20.9 20.0 21.1 21.1 20.7 20.3 0.4 215
&2 B85 _
] } \ — BBl & (H27.5.28)
ATtE | BRI | Bo® | A55 |FREmB %], e g | SHEQE| TISE
P RBFN| oy "
o
Om 30.8 30.6 30.4 275 30.6 32.1 A4 26.1
2m 312 312 31.4 31.1 31.3 32.1 A038 30.9
5m 32.1 32.1 31.8 31.9 32.0 32.2 AO02 32.0
10m 324 32.3 32.3 32.3 32.3 323 A 00 -
B-1m 32.5 32.6 32.4 32.4 32.5 32.5 A 00 32.2
®3 BEBEE (mg/l)
] ] \ R — 51 B35 2 (H27.5.28)
AEME | BRIA | BOE | A7 |7 0m BB TEN] e g | FTEEDE| TIHHT
P BB oy "
o
Om 74 6.5 7.3 8.1 7.1 9.1 A 20 74
2m 74 6.4 6.5 7.8 6.7 9.0 A23 6.6
5m 5.6 5.7 6.4 6.4 5.9 8.7 A28 6.2
10m 59 6.2 6.6 6.1 6.2 6.9 A 07 -
B-1m 6.4 6.4 6.7 6.2 6.5 6.5 _ 00 6.2
KERITA-BEOE-HSVDFEHIE
4 AR B (m) I
Bates | wroq | Bor | A5y |[PREER mgm
KZE 16.7 24.9 143 16.4 10.8
B 4.7 4.1 5.0 3.9 2.8
Bl 213 BA 4.4 3.9 4.9 5.3 4.9
5 TS5k (cells/ml)
AL=T- Jontok
Sizig |FYURSB|ISFILRISL-FUA—|  ERE
= ZI
Om 0 0 0 425 150
BRI A 2m 0 0 4 700 300
5m 1 0 1 2400 100
Om 2 0 3 1,750 350
BN 2m 1 0 1 2,050 650
5m 3 0 1 3,500 100
Om 0 0 1 200 100
A5 2m 0 0 1 1,200 200
5m 4 0 0 500 100
e 1 Om 1 0 1 350 550
REIER T om 33 0 10 2,400 200
- 5m 92 0 2 2.500 20
Om 6 0 2 450 50
TS AT 2m 516 0 4 1,800 50
5m 150 0 2 850 0
Om 0 0 3 100
=P 2m 0 0 4 550
5m 5 0 1 3,900




